hiterr w1 1 &t ufmr fagr

(THE CAMBRIDGE QUANTITY THEORY OF MONEY)

A
T < UieAT fagre : e 9 afrmn
(QUANTITY THEORY OF MONEY : CASH BALANCE APPROACH)
A A TR < S Ha forvafermer ¥ srdenierdt; SR—aier iy, @,
e 3 foarm | safee 38 Shiftem ol ot sy ST 2

. e IR S 1 5 o e 7 $retve 3 ftarer farvatramer ¥ arefanfardt
G w@wﬁﬁlﬁ%mﬁw%ﬁﬁ@vﬁ%mr@aﬁaﬁm%(@m
Balance) 3 3% 11 fRY ST Aoy 2T o s ey et for 3 | Shfarer Rervafere &

mm%ﬁgm%wmﬁuﬁwwmq@m#ﬁmmﬁgmﬁﬁ%%
ﬁm%mam%wﬁﬁmm%mmmmﬁﬁmm%lm
WW@'WWW’ (Cash Balance Approach) FEE

e TEraT= T 1 G = o ¥ 751 7w o st e 341} | gt g9 fog Ay
=1 & Ui & fagr (Demand Theory of Money) St &l ST @ |

fogm s SERAA dF (Main Elements of Theory)
34 Fs=a it emuree ad Frefafag © - '
(1)'5'{!377‘15‘(Supply of Money)—ﬁﬂ_ﬁ‘iﬁf@ﬁﬁaﬁw- Point of Time)
TSI 6 A S AT, Rt e o & it o e et ol BB

[E I = e + o+ S

X1 I 1 WY o st o (

A e o Period of Time) Y Qa1 | T

TSI g W ¥ foreg T

[ T A (Velocity) &7 5919
FAME T ggar| NI |

Scanne d with CamScanner



- RN TE AAATHTH WA AT 01 Artaes A 1 TH6 1 90 Tohe B9 W WA 9rd
g@agmﬁﬁﬂmm%l

(3) A @AM 4 gfg a Fit = g (Implication of Increase and Decrease in
Demand)"‘ggﬁmr;aaﬁ Wqﬁ%ﬁﬁﬁfﬁ’ﬂ@?ﬁ%ﬁ

(i) 7 TT F AT S (T R F w9 5 vy A0, a 36 9 78 2
fop g, Baait 1 T AT S @R

(i) T TS ™ T i 0 et S B A 72 31 g o WS R A A 5 ww A
T TR Y U Tl &, AT T 5 RO § | 3 S R ) A7 A 9 2 S
75 v & o6 A 3 gl ST WSl 9@ a2 I § A 3ot e TSI § a1
mq@ﬁ@fﬂm%l '

(iif) 35 FErrdieT, ST T3 <6t i 5w @1 SRt & A1 39T 31T 7 B @ foF WIS 3 e
3R el T E AU & T ¥ A Fegal qrE & 9 ¥ A S g @g S R et
m e Rl

(iv) ¥ ST R0 Y 00 A g 94 2 5w v > gt o Hw qew > @ 6 e B
gz

(v) 50 B Wi 3 e 0 31 R —anferes T > aga w1 A IeT > TR E Su e |
3et: 51 1 /1T & 1 o qod ¥ Feqe ey e R |

fafum Fang vra wefteston

(DIFFERENT CASH BALANCE EQUATIONS)
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